2019~2020 FAH — W A
AR B A

Gith 4 150 4 B 1A 120 4-%)
EEFE:
LA, 5 55 08 H O IR 5 0 (e OB S MR L IR E S IS
SRR G A 25 R e E L
2. TR R PR A S 2B BT BUIR R A R R A S B R AR R A R 0.5 2
oK B AT B KA T B A A R X Y 2 X N A AR I A TEAK
3. B A Wb DR AR 2 LR Y B

— R . (B/NE 4 4y, L 48 4 JHE AR/ B DO AN eI HA — 02 IE A, A AN
T By Y B A R T — AN E )
LR A7, R AR = R

A. /8 B./2 C. /18 D. |—

2. MR R R 2

A. /14 XJT =72 B. /60 =5 =243
C. v/8a-++/18a=5 /2a D.3J2 —J2=3

3. B = =K BIUE 15cm, 20em Fl 25em , X A = K 2
A BLf =Y B. B =P C. Hifs =K D. A5
A B B A 2T A — & B A W1 2
AL X ZCE AR 53 B. Xt £ 2 Al %
C. X 1 &k B AR TR 1 D. % 5% f 2 F- 53— AL A
5. 3557 My ] — AN 2R R K R SR AR R L 6 K A B v, K TR b B R ]« (9 7R
AR an 1 i s (EDE OABC AT, iXX AN 258 4% BT IR 7T L2

S8 Ve

UCHE F 28 00 3 v BT A D0 A R 2
JNARGRR 1 o0 34 5t

l

|

1

6.



VS R bupiA B. 3B C.ZE D. IEJE
TAEAABC W, AL /B, /C IR 535002 as by o, W R 51 2 - EN J2 15 M = A
AP
A LA=/B—/C B./A:/B: /C=1:3:4
C.atbte=1:.5:3 D. a’+c'=b’
8. T o as AUAR = AL J5 0T LA 9T 19 2

A3 F1/18 B. ﬁ%ﬂﬁ C. /a’b fil/ab’ D./a+1f1/a—1

9. —RPREL y=—2x+3 MEGEAZ TR R E

— %R B. % 4R C.o =% D. 55 104 R
10, A — R REL y=3x—1 MR LS8 AC—2.y)D R BBLy.) .y 5y, . IR
Ay <<y: B.yi =y, C.y, >y, D. A2
11 WE y=—x+2 fl y=2x+5 R, RERX 2x+5<—x+2 Y4 y-oxs5
(1 i B S 15
A x>—1 B. x<—1
C. x>3 D. x<3 / 1o "X
Y=-x+2
12. A LE.F 451 E ) ABCD 191 CD,AD ERy &, H CE 55 11 g
—DF. AE.BF H% T £1 O. F o456 . A P
DAE=BF QAE | BF QAO=0E @S, = Sxnor 5
o R A E
A 1A B. 2 4~ C.34 D. 4 4~ B C
= SN 4 5y, 36 24 1) i
ﬁy—ﬁ AR x B ROE Y 2
14 EA— RS B y=—2x AT, Bt #2100, 3) , 3% R 4L A
fiE b= -
15. WK LDLE.F 4 3l & AABC 430 i w05, AH J2 5, W2k ED
=6em. 4 HF 19K H : 5 L\
i 15 M

INAFGRR 2 50 34 3t



16. HZ y=2x—6 5 x Wac s ety 5y FAE AR AR A
17. 358 W %) 8 26 19 K 42 58 6em A Sem., W 22 98 AY i X CEEK R

18. £ Rt/AABC 1,/ ACB=90°,AD ¥4} /BAC 5 BC A
HHAE T 1 DL 45 BD=4,CD=2, ] AB fy K J&
= REE
19 3F5 . (/N 5 43, 3 20 4)
(D27 =24 +/12)+243

3
(2)2Mﬁ><g+5ﬁ

55 18 A

(3)(2—4/3)2 (2432 + | =3 | — (J2)?
(4)(24/3 434202 — (23 +34/2)(2/3 —342)

20. (8 J1) WK s W B L 3l A AT 5 A0 2 IR 42 U A W) B 2 A7 3 45km, i A 385 B

I B Ry ) 528 BT () 2 100 56 KO 6 8 AR 05 50 A7 3050 o 0
s
OREME NS T ved
QLB T ; » Y
DV 1 : o
ORELBHAFTER  NHEEB K, . 2’; éﬁm
25 20 A

21. (12 4 W .7 ABC 1, AB=AC,AD %4> /BAC,CE//AD H CE=AD.
(D3RIE: U ADCE 28 ; B
()# AABC KN 4 550 =IE . AC,DE #i2 T 5l O, 7E

CE E#H CF=CO., # # OF, R £ B FC 1y &K K& Ui B

AOFE fym 2, £
F
521 K

D A

ARG 3 o0 34 3t



22. (12O K E P EH AR RETD . HL AB S x i T4 B A b (—2,
6) . 5 1E He il pR AL y=3x BIEMGAZE T 45 C. 5 C AR AL bR 1.
(1SR EZE AB Ay R 8 b =X

\A\Tf‘e Y=3x
DR DA WO L LB Socn= g Sk N/
D A FR % i B
20 1 X
Y=kx+b
%22 KA
23. (12 43 H LB R N TH B4 M 15 &
fih L A SRR B i R 2R
AN/ GT/ B 700 100
B/ oo/ &) 900 160
iR 4 T3 J0 %% 4 — P M BE X PR ST FLAR 2L 100 & IRIZ AR R W HE A S
TR x B X WA T 28 A3 4 45 58 Je AR R O y ot
(DK y 5 x ZEp A% R
(2) A TR A TRA 58 5 ARAF RN A>T 1. 26 J5 0 &5 i A7 WP JLFh R 6% 5 %82

(3) LR HE 5% 07 52 IR 42 8 1 ) AR B K7 e KA = 22 /07

24. (14 ) E O fEIETTIE ABCD L P 22X M4k BD Ei—si, i EFE AD I EE K

(DIEM . PC=PE

(2)3Rk / CPE I RE%;

OHWE® . IFEHFH ABCD ik J3E# ABCD, Hifih S E AR 25, 24 ABC= 1201, % 3
CE.i#R7W LB AP 54 CE BB LR Ui HI M .,

D E
A A D E
F
P F
B C B C
co

K@

INAEGRUEE 4 i 34 5t



